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X 43| P23 Rk 2 24F i O %R H R
(CYPHEE) (A)-(B) (C)/(B)
RILIESES A B C D
HO& 26,640,095 26,163,580 476,515 1.8
oL ®i T 20,134,164 20,105,404 28,760 0.1
V=T 14,220,609 14,112,214 108,395 0.8
O ] 5,496,114 5,417,340 78,774 15
. E 10,585,947 10,462,649 123,298 1.2
+ Fn W o 9,765,698 9,522,751 242,947 2.6
= W i 4,761,756 4,530,562 231,194 5.1
e o i 9,943,632 9,760,381 183,251 1.9
o N D 10,496,450 10,151,711 344,739 3.4
oI T 7,845,402 7,816,947 28,455 0.4
Mg 119,889,867 118,043,539 1,846,328 1.6
i |'F N HT 2,896,407 2,841,646 54,761 1.9
A Bl HT 1,249,266 1,285,105 A 353839 A28
EE W A 1,288,511 1,327,043 A 38532 A29
A 141 s e my 3,118,890 3,178,724 A 59834 A19
7 |5 o ROET 3,591,114 3,585,474 5,640 0.2
S bR 4,055,905 4,063,240 A 7335 A 02
e B R A 1,039,118 1,033,874 5,244 0.5
By I ET 3,436,200 3,241,264 194,936 6.0
N ) 2,762,030 2,717,924 44,106 1.6
BB w4 & AT 1,742,781 1,698,436 44,345 2.6
b [k #n HT 2,709,340 2,620,979 88,361 34
£ mH o HT 2,764,267 2,714,333 49,934 1.8
A g g Ep 3,603,541 3,713,168 A 109,627 A 30
B ) Wy 2,043,795 1,975,147 68,648 35
+ = W 4,403,874 4,507,238 A 103,364 A 23
I 2,052,006 2,027,844 24,162 1.2
e o mT 1,517,569 1,459,168 58,401 4.0
b me b my 4,609,401 4,398,402 210,999 48
N o BT A - - - -
B HRT 3,385,059 3,212,739 172,320 5.4
xKoO[EOHT 1,463,897 1,427,587 36,310 25
It W@ A 155,615 66,032 89,583 135.7
7 [EL A H #F 1,201,434 1,194,153 7,281 0.6
e A 1,260,038 1,297,807 A 37,769 A29
= = 2,623,960 2,605,940 18,020 0.7
I D= ) 4,350,672 4,335,576 15,096 0.3
; H 1 W 2,236,823 2,226,383 10,440 05
7R MO T 5,352,585 5,201,085 151,500 2.9
e Wy 2,211,941 2,157,951 53,990 2.5
Bk 1,533,148 1,541,659 A 8511 A 06
T A & 74,659,187 73,655,921 1,003,266 1.4
Bt 194,549,054 191,699,460 2,849,594 15




